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Direction for (Q no 1 - 5) Choose the correct verb form 
1. If you …………. your studies, you will fail.  
  (1) Neglect (2) Neglects (3) Have neglected (4) Had neglected 
2. Ten years ……. since I met you. 
  (1) Passed (2) Have passed (3) Had passed (4) Pass 
3. We ……… each other for the last ten years 
  (1) Have been knowing  (2) Have known  
  (3) Had been knowing  (4) Had known 
4. Priya died after she ……… for five years 
  (1) Have suffered  (2) Had suffered   
  (3) Have been suffering.  (4) Had been suffering 
5. Virat cannot play in the match as he ……… his foot 
  (1) Injured (2) Have injured (3) Has injured (4) Had injured 
 
Direction (For Q no 6 - 8) Fill in the blanks with suitable prepositions 
6. Ram died ………. cancer 
  (1) Of (2) For (3) From (4) By 
7. Darjeeling is …… the North of West Bengal  
  (1) In (2) On (3) To (4) At 
8. A greedy man hankers …….. money  
  (1) For (2) After (3) In (4) None of these 
 
Direction (For Q no 9 - 12) Change the voice of the following 
9. I do not know his address. 
  (1) His address was not known to me (2) His address was not known by me 
  (3) His address is not known to me (4) His address is not known by me 
10. The peon opened the gate 
  (1) The gate is opened by the peon (2) The gate had been opened by the peon 
  (3) The gate was opened by the peon (4) The gate has been opened by the peon 
11. The Principal presided over the meeting 
  (1) The meeting is presided over by the Principal 
  (2) The meeting had been presided over by the Principal 
  (3) The meeting has been presided over by the Principal 
  (4) The meeting was presided over by the Principal 
12. By whom can this be done?  
  (1) Who can do this?   (2) Who could do this?  
  (3) Who should do this?   (4) Who would do this? 
 
Direction (For Q no 13 - 20) Fill in the blanks with suitable article: 
13.  Ramesh reads ___________ L.P. School. 
  (1) A (2) An (3) The  (4) None of these 
14. Switzerland is ___________ European country. 
  (1) A (2) An (3) The (4) No Article 
15. Taylor began his playing career as an amateur goalkeeper (Choose a synonym of the word “amateur”) 
  (1) Expert (2) Skilled (3) Unskilled (4) Ace 
16. Anita is adept in singing (Choose the synonym of “adept”) 
  (1) Mediocre (2) Beginner (3) Apprentice (4) Expert 
17. This music suits her gentle voice. (Choose the antonym of “gentle”) 
  (1) Soft (2) Smooth (3) Coarse (4) Soothing 
18. Rahul never forgets his friend’s birthday (Choose the correct affirmative sentence).  
  (1) Rahul manages to remember his friend’s birthday (2) Rahul ever remembers his friend’s birthday
  (3) Rahul ever remembers his friend’s birthday (4) Rahul always remembers his friend’s birthday 
19. Shila has never seen the Taj Mahal in her life. (Choose the correct interrogative sentence) 
  (1) Has Shila ever seen the Taj Mahal in her life? (2) Has Shila never seen the Taj Mahal in her life?
  (3) Did Shila ever see the Taj Mahal in her life? (4) None of the above  
20. I will always respect my father. (Choose the correct interrogative sentence) 
  (1) Will I not be failing to respect my father? (2) Will I fail not to respect my father? 
  (3) Will I ever fail to respect my father? (4) Would I be denying to respect my father?  

ENGLISH
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21. The number of vibrations per second is called 
 ________

________
  (1) Frequency / /  (2) Motion /   
  (3) Wavelength / /  (4) Speed /  
22. A simple pendulum takes 40 s to complete 20 oscillations. What is its time period? 
 40 20 

40 20 
  (1) 2 s (2) 3 s (3) 4 s (4) 5 s 
23. The distance between two stations is 300 km. A train takes 5 hours to cover this distance. What is the speed of the 
 train? 
 300 5 

300 5 
  (1) 40 km/hr  (2) 50 km/hr  
  (3) 60 km/hr  (4) 70 km/hr 
24. Which of the following is not in uniform motion? 
 

  (1) A bullet travelling with a constant speed in a straight line
/       

  (2) A swinging pendulum / /  
  (3) The earth rotating about its axis 

/    
  (4) Both 1 & 3 / 1 3 / 1 3  
25. Take an electric cell, a bulb, a switch and connecting wires. Make an electric circuit as shown in this figure. This  
 activity has to be done using only one cell. Keep the switch in the OFF position and touch the bulb. What do you  
 feel? 
 বা�

বা�
বা�

বা�

 
  (1) The bulb is slightly warm to touch / বা� / বা�  
  (2) The bulb is extremely cold to touch / বা� / বা�  
  (3) The bulb is very hot / বা� / বা�    
  (4) The bulb is at normal temperature / বা� / বা�  
26. An electromagnet is a _______ 
 _______

_______
  (1) Temporary magnet /   
  (2) Permanent magnet /   
  (3) Both (1) and (2) / (1) (2) / (1) (2)   
  (4) None of these / /  

GENERAL SCIENCE / / 
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27. In the circuit diagram shown below, 
 the bulbs A, B, and C will glow? 
 

  (1) First B then C and then A / 
  (2) First A then B and then C / 
  (3) First A then B and C together
  (4) All the bulbs will glow together
28. Which of the following is directly responsible for the
 

  (1) The coil / /   
   (3) The gong /   
29. Convert 72 km/h to meters per second
 72 / /

72 / /
  (1) 72 m/s (2) 20 m/s
30. What is the name of the wire inside a bulb
 বা�

বা � বা �
  (1) Coil / /   
  (3) Electrode / / 
31. Which of the following distance-time graphs represents the motion of a car moving with changing
 

 
 
   
  (1) (2)
 
 
 
 
32. Assertion (A): It is easier to drink hot tea from a porcelain mug than from a steel tumbler.
 (A): 

(A): 
 Reason (R): Porcelain is a good conductor of heat
 (R): 

(R): 
  (1) Both A and R are true and R is the correct explanation of A.
   A R R
   A R R 
  (2) Both A and R are true but R is not the correct explanation of A.
   A R  A
   A R R, A 
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, when the switch is moved to the on position. What will be the order in which 

(On)

(On) A, B

 
 B C A /  B 
 A B C /  A 

First A then B and C together /  A B C /  A 
together / বা� / বা�

Which of the following is directly responsible for the production of sound in an electric bell?

 (2) The Iron piece / 
 (4) The switch / 

second. 

(2) 20 m/s (3) 36 m/s 
wire inside a bulb that glows when current passes through it?

 (2) Filament / 
 (4) Insulator / 

time graphs represents the motion of a car moving with changing

(2) (3) 

It is easier to drink hot tea from a porcelain mug than from a steel tumbler.

 
Porcelain is a good conductor of heat 

 
(1) Both A and R are true and R is the correct explanation of A. 

A  
A 

(2) Both A and R are true but R is not the correct explanation of A. 
R  

A  

 

12-2024      /    Set – A    /  VIII 

 

What will be the order in which  

A, B C বা�

A, B C বা�

C A  
B C 

B C  
     

production of sound in an electric bell? 

/ / 
/  

  (4) 12 m/s 
that glows when current passes through it? 

  
/  

time graphs represents the motion of a car moving with changing speed? 

 (4) 

It is easier to drink hot tea from a porcelain mug than from a steel tumbler. 
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  (3) A is true but R is false. 
   A R  
   A R  
  (4) Both A and R are false. 
   A R  
   A R
33. In the diagram shown, M is a mirror, O is an object and I
 M O

M O

  (1) Convex mirror / 
  (2) Concave mirror / 
  (3) Plane mirror /  / 
  (4) None of these / / 
34. Celsius is a unit of: / __________
  (1) Temperature /    
  (3) Specific heat / / 
35. Select the one in which heating effect of current is not used
 

  (1) Electric iron /   
  (2) Electric immersion heater / 
  (3) Electric geyser / 
  (4) A battery / / 
36. If the glancing angle of incidence is 39
 39° 

39° 
  (1) 39° (2) 61
37. Few small wax pieces are fixed on the rod as shown in figure below. When flame is 
 is observed that the wax pieces begin to fall one by one. The method of heat transfer involved here is
 

  (1) conduction /  /  
  (3) radiation / /   

Admission Test  -  2025       /  AS40  /       Date – 29-12

In the diagram shown, M is a mirror, O is an object and I is its image. Predict the nature of the mirror
I

I

 
/   

/   
/   

 
__________ / __________
 (2) Heat /  

 (4) Latent heat / 
effect of current is not used? 

 
  

/  
/   

 
angle of incidence is 39° then what will be the value of angle of reflection

(2) 61° (3) 51° 
ll wax pieces are fixed on the rod as shown in figure below. When flame is brought in contact with rod, it

is observed that the wax pieces begin to fall one by one. The method of heat transfer involved here is

 
 (2) convection / 
 (4) none of these / 

12-2024      /    Set – A    /  VIII 

is its image. Predict the nature of the mirror. 

  

 
  

 

  

then what will be the value of angle of reflection. 

 (4) 90° 
brought in contact with rod, it 

is observed that the wax pieces begin to fall one by one. The method of heat transfer involved here is - 

/   
/  
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38. In a three-pin socket, the biggest hole is connected to - 
 __________

  (1) Any wire /  /  (2) Live wire / /  
  (3) Neutral wire /  /  (4) Earth wire / /   
39. A body covers a distance 5 km in 30 min and next 4 km in 60 min. The average speed of the body for whole 
 journey is 
 5 30 4 60 

5 30 4 60 
  (1) 60 m/min (2) 150 m/min (3) 100 m/min  (4) 50 m/min 
40. The temperature of a body is measured by a device called - 
 

  (1) Anemometer /  /  (2) Thermometer / /   
  (3) Speedometer / /  (4) Calorimeter / /  
41. Which part of the sheep is primarily used to obtain wool? 
 

  
  (1) The coarse beard hair / /    
  (2) The fine soft under-hair close to the skin / /  
  (3) The hooves / /    
  (4) The outer coat of hair / /  
42. What is the first step in processing wool from sheep? 
 

 
  (1) Dyeing / /   (2) Scouring / /  
  (3) Shearing / /   (4) Spinning / /  
43. What material do silkworms feed on? 
 

 
  (1) Cotton leaves / /  
  (2) Mulberry leaves / /  
  (3) Eucalyptus leaves / /   
  (4) Pine needles / /  
44. Which stage in the life cycle of a silk moth is directly related to silk production? 
 

 
  (1) Egg / /   (2) Larva / /   
  (3) Cocoon / /  (4) Adult moth / /  
45. Which natural indicator turns acidic solutions dark pink and basic solutions green? 
 

 
  (1) Litmus / /    
  (2) Turmeric / /  
  (3) China rose /    
  (4) Phenolphthalein / /  
46. When performing a neutralization reaction, which of the following is always produced? 
 

 
  (1) Acid /   (2) Base / /   
  (3) Salt and water / /  (4) Heat only / /  
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47. Which of the following substances would likely contain citric acid? 
 

  (1) Vinegar / /   (2) Milk / /   
  (3) Lemon juice / /  (4) Baking soda / /  
48. What is the expected result when blue litmus paper is dipped into a solution of baking soda? 
 

 
  (1) Turns red / /    
  (2) Stays blue / /  
  (3) Turns green / /   
  (4) Turns yellow / /    
49. Which of the following is an example of a physical change? 
 

 
  (1) Rusting of iron / /     
  (2) Burning of wood / /    
  (3) Dissolving sugar in water / /     
  (4) Fermentation of grapes / /  
50. When a piece of paper is cut into small pieces, what type of change is it? 
 

 
  (1) Chemical change / /    
  (2) Physical change / /   
  (3) Both physical and chemical changes 
        /  
  (4) Neither physical nor chemical changes   
        /  
51. The process of depositing a layer of zinc over an iron article is called as – 
 _________ 

_________  
  (1) Painting / /   (2) Greasing / /   
  (3) Galvanization /   (4) Rusting / /  
52. Which of the following property is studied during a physical change? 
 

   
  (1) Color / /   (2) Reactivity /   
  (3) Flammability /    (4) Toxicity / /  
53. What type of change occurs when milk starts to taste sour? 
 

   
  (1) Physical change / /     
  (2) Chemical change / /   
  (3) Reversible change / /    
  (4) None of the above / /  
54. Litmus is extracted from – 
 ________

_______    
  (1) Turmeric / /   (2) Beetroot / /   
  (3) Lichens /   (4) China rose /     
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55. Methanoic acid is generally found in – 
 ________ 

________   
  (1) Bee sting / /  (2) Tomato / /    
  (3) Tamarind / /   (4) Lemon / /    
56. What is the chemical nature of substances that taste bitter and feel soapy? 
   
   
  (1) Acidic / /   (2) Basic / /   
  (3) Neutral /   (4) Salty / /  
57. Which of the following property is common in acids?  
 

 
  (1) Bitter taste / /  (2) Soapy feel /  
  (3) Sour taste / /  (4) No taste / /   
58. Jute fibre is obtained from which of the following part of jute plant? 
 

   
  (1) Fruit /   (2) Leaf / /   
  (3) Stem /   (4) Root / /  
59. Which of the following is not a natural fibre? 
 

 
  (1) Jute / /   (2) Hemp /   
  (3) Coir / /  (4) Acrylic /    
60. Assertion (A) - Formation of rust is a chemical change. 
 (A): 
 (A):  
 Reason (R) - For formation of rust, iron must be exposed to air and water. 
 (R): 
 (R):  
  (1) Both A and R are true and R is the correct explanation of A. 
   A R R A  
   A R R A  
  (2) Both A and R are true but R is not the correct explanation of A. 
   A R  A R  
   A R R, A  
  (3) A is true but R is false. 
   A R / A R  
  (4) Both A and R are false. 
   A R / A R  
61. The windpipe is also called the ________ 
 ________   
 ________   
  (1) Larynx / /   (2) Lungs / /  
  (3) Trachea / /   (4) Oesophagus / /  
62. Which is the longest organ of digestive system in human body? 
 

   
  (1) Pancreatic duct / /  (2) Small intestine /  
  (3) Large intestine /   (4) Esophagus /  /  
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63. Saliva helps in digestion of ________. 
 ________

________  
  (1) Starch / /   (2) Fiber / /   
  (3) Proteins / /   (4) Fats /  
64. Bile juice is found in the 
 ________

________    
  (1) Kidney /    (2) Salivary Gland /  /   
  (3) Liver /   (4) Lung /  /   
65. During transpiration water is lost from the plant in the form of - 
 _______  
 ________    
  (1) Water vapour /    
  (2) Liquid / /   
  (3) Hydrogen and oxygen gas / /     
  (4) Steam /   
66. The muscular tube through which stored urine is passed out of the body is called: 
 ________   
 ________   
  (1) Kidney /   (2) Ureter / /   
  (3) Urethra / /   (4) Urinary Bladder /  
67. Which of the following food components does not provide any nutrients? 
   
   
  (1) Milk / /    
  (2) Water / /   
  (3) Fruit Juice / /   
  (4) Vegetable soup / /  
68. Guava, Lemon, Orange and Tomato are rich in ________ 
 ________   
 ________   
  (1) Vitamin A / A  (2) Vitamin B / B  
  (3) Vitamin C / C  (4) Vitamin D / D 
69. In which organism does reproduction through spore formation occur? 
 

   
  (1) Fern / /  (2) Algae / /   
  (3) Fungi / /   (4) Both 1 and 3 / 1 3 / 1 3  
70. Which of the following is the main circulatory fluid in our body?  
 

  
  (1) Plasma /   (2) Lymph /   
  (3) Blood / /   (4) None of these / /  
71. A deficiency in which mineral can lead to brittle bones and dental issues, due to its role in bone formation and 

maintenance? 
 

 
  (1) Potassium / /    
  (2) Iron / /   
  (3) Calcium / /    
  (4) Magnesium / /  
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72. In which part of the digestive tract does the majority of water reabsorption occur? 
 

 
  (1) Stomach / /   (2) Large intestine /  
  (3) Small intestine /   (4) Esophagus / /  
73. The structure responsible for the exchange of oxygen and carbon dioxide between the lungs and the blood is called: 
 ________

 
  (1) Bronchioles / /  (2) Alveoli / /   
  (3) Trachea / /   (4) Diaphragm /  
74. The primary tissue responsible for the transport of water and minerals from roots to other parts of the plant is: 
 

 
  (1) Phloem / /   (2) Xylem /    
  (3) Chlorophyll / /  (4) Stomata / /  
75. The right side of the human heart pumps deoxygenated blood to which organ for oxygenation? 
 

 
  (1) Liver /   (2) Kidneys /   
  (3) Lungs / /   (4) Brain / /  
76. Which organ is responsible for filtering waste products from the blood to form urine? 
 

   
  (1) Liver /   (2) Kidneys /   
  (3) Bladder /   (4) Ureter / /  
77. After fertilization in plants, which part of the flower typically develops into the fruit? 
 

 
  (1) Stamen / /  (2) Petal / /   
  (3) Ovary /   (4) Anther / /  
78. Plants absorb water from the soil through their ___________. 
 ___________

___________  
  (1) Stomata / /   (2) Roots / /   
  (3) Leaves / /   (4) Flowers /  
79. Which plant tissue is responsible for transporting the products of photosynthesis from the leaves to other parts of 

the plant? 
 ___________

 
  (1) Xylem /   (2) Phloem / /   
  (3) Stomata / /   (4) Cambium / /  
80. During inhalation, which of the following muscles contracts to expand the chest cavity and allow air to enter the 

lungs? 
 

 
  (1) Trachea / /   (2) Rib muscles / /  
  (3) Diaphragm /   (4) Alveoli / / 
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81. X is the smallest four – digit number formed by all the digits 0, 1, 2 and 3. Find X. 
 0, 1, 2 3 X X

0, 1, 2, 3 X X   
  (1) 1230   (2) 1023 (3) 1000 (4) 1032 
82. If x = 3 , y = 27  and z = 243 , then which of the following is/are rational numbers? 

 x = 3 , y = 27  z = 243
x = 3 , y = 27  z = 243  

  (1) xy  (2) xz  
  (3) yz  (4) All of the these / /  
83. Find the greatest number that can divide 101 and 115 leaving remainder 5 and 7, respectively. 
 101 115 5 7 

101 115 5 7  
  (1) 6 (2) 9 (3) 12 (4) 18 
84. 235.235235235 …. is a/an 
 235.235235235 …. 
 235.235235235 ….  
  (1) Integer /   
  (2) Whole number /   
  (3) Rational number / /   
  (4) Irrational number / /  

85. If 2n = 16, then the value of n is: 

 2n = 16 n / 2n = 16 n
  (1) 4 (2) 8 (3) 2 (4) 3 
86. A number whose reciprocal does not exist is - 
 _______

  
  (1) 1  (2) –1    
  (3) 0  (4) None of these / /  
87. The greatest among the following is: 
 
  
  (1) 0.2 (2) 1 ÷ 0.2 (3) 0.2  (4) 0.02 

88. If the numbers
4
5

, 0.81 and 0.801 are arranged from smallest to largest then the correct order is 

 
4
5

, 0.81 0.801   

 
4
5

, 0.81 0.801  

  (1) 
4
5

, 0.81, 0.801 (2) 0.81, 0.801, 
4
5

 (3) 0.801, 
4
5

, 0.81 (4) 
4
5

, 0.801, 0.81 

89. Suppose 
2 2,
3 3

a b b c= =  and 
2
3

c d= , what would be the value of b as a fraction of d? 

 
2 2,
3 3

a b b c= =
 

2
3

c d=
 

b d

2 2,
3 3

a b b c= =
 

2
3

c d=
 

b d   

  (1) 
2
3

 (2) 
4
3

 (3) 
4
9

 (4) 
8
27  

GENERAL MATHEMATICS  / /  
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90. Sanjay earns twice as much on Sunday as on each of the other days of the week. If he works on all 7 days of week  
 then what fraction of total income he earns on Sunday? 
 7 

  
 7 

 

  (1) 
2
7

  (2) 
1
4

  

  (3) 
1
3

  (4) None of these / /  

91. The number 111 111 111 111 is divisible by: 
 111 111 111 111 _______
 111 111 111 111  
  (1) 5 and 11 / 5 11/ 5  11 (2) 9 and 11 / 9 11/ 9 11  
  (3) 3 and 9 / 3 9 / 3 9  (4) 3 and 11 / 3 11/ 3 11 
92. Which of the following is the set of measures of the sides of a triangle? 
 
  
  (1) 8 cm, 4 cm, 20 cm  (2) 9 cm, 17 cm, 25 cm  
  (3) 11 cm, 16 cm, 28 cm   (4) 6 cm, 5 cm, 12 cm 
93. In an n – sided regular polygon, each interior angle is 144°. Find the number of the sides of the polygon. 
 n – 144° 
 n – 144°  
  (1) 7 (2) 8 (3) 9 (4) 10 
94. The LCM of two numbers is 420. Which of the following cannot be the HCF of the two numbers? 
 420 
 420  
  (1) 70 (2) 60  (3) 210 (4) 80 

95. If 
3
5

x
y
= , then the value of 

x y
x y
−
+

is 

 
3
5

x
y
=

x y
x y
−
+  

/
3
5

x
y
=

x y
x y
−
+  

  (1) 
1
4

−  (2) 
1
4

 (3) 
1
2

 (4) 6−  

96. If 
1 3and then ?
4 2

x yx y
x y
+

= = =
−  

 
1
4

x = 3
2

y = ?x y
x y
+

=
−

/
1
4

x = 3
2

y = ?x y
x y
+

=
−

  (1) 
6
5

 (2) 
10
3

 (3) 
5

4
−

 (4) 
7

5
−

 

97. 

1 1
3 1 2 1 52 32 of 3 ?1 14 4 3 3 6

2 3

−
÷ − × + =

+
  

   

 
3 12
4 4
÷

 

1 1
2 1 52 3 3 ?1 13 3 6

2 3

−
− × + =

+
/ 

3 12
4 4
÷

 

1 1
2 1 52 3 3 ?1 13 3 6

2 3

−
− × + =

+
 

  (1) 
7

18
 (2) 

49
54

 (3) 
2
3

 (4) 
1
6  
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98. Value of 
9 3 5 5 4 10

3(5) 2 4 2
− − ÷

− − × ÷
is 

9 3 5 5 4 10
3(5) 2 4 2
− − ÷

− − × ÷  
/  

9 3 5 5 4 10
3(5) 2 4 2
− − ÷

− − × ÷  
 

  (1) 
9

10
 (2) 

8
17

−  (3) 
16
19

−  (4) 
4
7

   

99. If 
2 3 2
3 2 3

x
x
− −

=
+

then x = ?   

 
2 3 2
3 2 3

x
x
− −

=
+  

x = ?  / 
2 3 2
3 2 3

x
x
− −

=
+  

x = ?    

  (1) 
5

10
 (2) 

5
12

 (3) 
11
5

 (4) 
5

11
   

100. If x is a positive integer then which of the following fractions is greatest? 
 x

x    

  (1) 
x
x

 (2) 
1x

x
+

 (3) 
1

x
x+

 (4) 
2
3

x
x
+
+  

101. The greatest number of 4 digits divisible by 12, 15, 20 and 35 is: 
 12, 15, 20 35 4 
 12, 15, 20 35 4  
  (1) 9999 (2) 9900 (3) 9804 (4) 9660 
102. The mean of 15 observations is 30. Two observations 28 and 38 are deleted and three observations 33, 39 and 48  
 are included. Find the mean of new set of observation. 
 15 30 28 38 33, 39 48 

 15 30 28 38 33, 39 48 
 

  (1) 31 (2) 31.5 (3) 32 (4) 33.5 
103. In a school, only 2 out of 5 students can participate in a quiz. What is the chance that a student picked at random 

makes it to the competition?   
 5 2 

5 2 

  (1) 20% (2) 40% (3) 50% (4) 30% 

104. What should be added to 
1 1 1
2 3 5

 + + 
 

to get 3? 

 
1 1 1
2 3 5

 + + 
   

3 /
1 1 1
2 3 5

 + + 
   

3

  (1) 
58
30

 (2) 
59
32

 (3) 
59
30

 (4) 
59
95  

105. In ABC∆ , C A∠ = ∠ and BC = 6cm and AC = 5cm then the length of AB is: 
 ABC∆ C A∠ = ∠ BC = 6 AC = 5 AB
 ABC∆ C A∠ = ∠ BC = 6 AC = 5 AB  
  (1) 6 cm (2) 5 cm (3) 3 cm (4) 2.5 cm 
106. The sum of two consecutive multiples of 6 is 66. Find the multiple.   
 6 66 
 6 66  
  (1) 32, 34  (2) 34, 42  
  (3) 30, 30  (4) None of these / /  
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107. The number ‘x’ equals one fourth of its own reciprocal, then the value of ‘x’ is equal to: 
 ‘x’ ‘x’ 
 ‘x’ ‘x’  

  (1) 
1
2

 (2) 
1
4

 (3) 2 (4) 4 

108. A man goes 24 m due East and then 10 m due North. How far is he from his initial position? 
 24 10 
 24 10  
  (1) 25 m (2) 25.5 m (3) 26 m (4) 27 m 
109. Which of the following values are equal? 
 

 
  (P) 14     (Q) 40   (R) 04   (S) 41 
  (1) P and Q / P Q / P Q (2) Q and R / Q  R / Q  R  
  (3) P and R / P R / P R (4) P and S / P S / P S 
110. If the distance travelled by a car in one hour is 210 km, then find the distance (in metres) travelled by the same car 

with the same speed in 60 seconds. 
 210 60 

210 60  
  (1) 4500 m (2) 3160 m (3) 3500 m (4) 4230 m 
111. Find P – Q, P = 26 ÷ (13 ÷ 4), Q = (26 ÷13) ÷ 4 
 P = 26 ÷ (13 ÷ 4), Q = (26 ÷13) ÷ 4 P – Q
 P = 26 ÷ (13 ÷ 4), Q = (26 ÷13) ÷ 4 P – Q   
  (1) 0 (2) 6 (3) 7.5 (4) 8 
112. If an angle is 30° more than one half of its complement, then the angle is 
 30° 
 30°  
  (1) 40° (2) 50° (3) 60° (4) 70°   

113. Mean of x and 
1
x

is k, then find the mean of x2 and 2

1
x  

 
x

1
x  

k x2 
2

1
x  

/ x
1
x  

k x2 
2

1
x  

  (1) k2 – 1 (2) 2k2 – 2 (3) k2 – 2 (4) 2k2 – 1 
114. In a solution of 45 litres of milk and water, 40% is water. How many litres of milk must be added to become the  
 ratio of milk and water 5 : 3 ? 
 45 40% 5 : 3 
 45 40% 5 : 3  
  (1) 8 (2) 3 (3) 7 (4) 6 
115. Find the cost of flooring a square shaped room of side 8 m at the rate of Rs. 50 per m2 

 8 50  

 8 50  

  (1) Rs. 6100 (2) Rs. 1600 (3) Rs. 3200 (4) Rs. 6200 

116. The simplified value of 

1 1 1
13 3 3

1 1 1 9of
3 3 3

÷ ×
−

÷
 is 

 

1 1 1
13 3 3

1 1 1 9of
3 3 3

÷ ×
−

÷
 

/ 

1 1 1
13 3 3

1 1 1 9of
3 3 3

÷ ×
−

÷
 

 

  (1) 0 (2) 
1
9

 (3) 
1
3

 (4) 1 
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117. Which of the following does not have an integer solution?
 
 
  (1) 5y – 3 = –18 (2)
118. In the given figure, if AB || CD, then the value of 
 AB || CD x

  (1) 120º (2) 130º
119. What must be subtracted from –2 to get 
 –2 –9 
 –2 
  (1) –6  
  (3) 6  

120. The sum of 
1 1 1 13 2 1
5 10 2 4
+ − − is: 

 
1 1 1 13 2 1
5 10 2 4
+ − −

 

  (1) 
112
30

 (2)

 
 
 
 
121. Find the missing figure in the given pattern.
 
  

 
 
  (1) (2)
 
 
122. Which of the following Venn diagrams correctly describes the relationship amongst, “shirt, clothes and pen”?
 
 
 
   
  (1)  (2)
 
  
 
123. If ‘+’ means ‘÷’, ‘–’ means ‘×’, ‘÷’ means ‘+’ and ‘×’ means ‘
 ‘+’ ‘÷’ ‘–’ ‘×’ ‘÷’ 
  ‘+’ ‘÷’ ‘–’ ‘×’ ‘÷’ 
  (1) 180 (2)
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Which of the following does not have an integer solution? 

 
(2) 3x – 9 = 0 (3) 3z + 8 = 3 + z 

In the given figure, if AB || CD, then the value of x is  
/ AB || CD x

 
(2) 130º (3) 140º 

2 to get –9? 

–9 
 (2) 12 
 (4) None of these / 

/
1 1 1 13 2 1
5 10 2 4
+ − −

 

(2) 
73
30

 (3) 
114
30

 

Find the missing figure in the given pattern. 
 

 

(2) (3) 

Which of the following Venn diagrams correctly describes the relationship amongst, “shirt, clothes and pen”?
 

 

(2)  (3)  

’ means ‘×’, ‘÷’ means ‘+’ and ‘×’ means ‘–’, then 320 ÷ 225 + 15 × 15 
‘+’ ‘×’ ‘–’ 320 ÷ 225 + 15 × 15 
‘+’ ‘×’ ‘–’ 320 ÷ 225 + 15 × 15 

(2) 140 (3) 60 

REASONING / / 
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 (4) 9y + 8 = 4y – 7 

 (4) 100º 

  
/  

 (4) 
113
20  

 (4) 

Which of the following Venn diagrams correctly describes the relationship amongst, “shirt, clothes and pen”? 

 (4)   

320 ÷ 225 + 15 × 15 – 85 = ?  
320 ÷ 225 + 15 × 15 – 85 = ? 

320 ÷ 225 + 15 × 15 – 85 = ? 
 (4) –940 
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124. If the first and the third digits in each of the following numbers are interchanged, then which number will be the 
 smallest? 
 

  (1) 348 (2)
125. Rahul told Anand, “Yesterday I defeated the only brother of the daughter of my grandmother”. Whom did Rahul 
 defeat? 
 

  (1) Son /   
  (3) Brother / /   
126. Arrange the words in dictionary and choose the one that comes last.
 

  (1) Prominent  
  (3) Programme  
127. If ‘sheet’ is called ‘pillow’, ‘pillow’ is called ‘quilt’, ‘quilt’ is called ‘mosquito net’, ‘mosquito net’ is called ‘scarf’
 and ‘scarf’ is called ‘saree’, then which is used only in 
 

  
 

 
  (1) Quilt /   
  (3) Mosquito net / /  
128. The given three elements are related in some way. Find the diagram in which these three element fit.

 

 
 
  (1) (2)
 
 
129. If GOLD is written as IQNF, how WIND can be 
 GOLD IQNF

GOLD IQNF WIND
  (1) YKPF (2)
130. If D = 4, BAD = 7, then what is the value of ANT = ?
 D = 4, BAD = 7 ANT = ?

D = 4, BAD = 7 ANT = ?
  (1) 8 (2)
131. If RED is coded as 6720, then how GREEN would be coded?
 RED 6720 GREEN

RED 6720 GREEN
  (1) 9207716 (2)
132. There will be a certain relationship between the first two numbers we have to find that and accordingly solve the 
 question. 
 

  (1) 313 (2)
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If the first and the third digits in each of the following numbers are interchanged, then which number will be the 

348, 436, 652, 198, 563 
(2) 436 (3) 652 

told Anand, “Yesterday I defeated the only brother of the daughter of my grandmother”. Whom did Rahul 

 (2) Father / / 
 (4) Father-in-law / 

Arrange the words in dictionary and choose the one that comes last. 

 
 (2) Prohibition 
 (4) Prolong 

If ‘sheet’ is called ‘pillow’, ‘pillow’ is called ‘quilt’, ‘quilt’ is called ‘mosquito net’, ‘mosquito net’ is called ‘scarf’
, then which is used only in winters? 

 (2) Pillow / /
 (4) Scarf / / 

given three elements are related in some way. Find the diagram in which these three element fit.
Oil, Wick, Lamp 

(2) (3) 

If GOLD is written as IQNF, how WIND can be written in the code? 
WIND

WIND
(2) VHMC (3) DNIW 

If D = 4, BAD = 7, then what is the value of ANT = ? 
ANT = ?

ANT = ? 
(2) 17 (3) 35 

If RED is coded as 6720, then how GREEN would be coded? 
GREEN
GREEN  

(2) 1677199 (3) 1677209 
There will be a certain relationship between the first two numbers we have to find that and accordingly solve the 

81 : 729 : : 49 : ? 
(2) 379 (3) 330 
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If the first and the third digits in each of the following numbers are interchanged, then which number will be the  

 (4) 198  
told Anand, “Yesterday I defeated the only brother of the daughter of my grandmother”. Whom did Rahul  

  
/  

  
   

If ‘sheet’ is called ‘pillow’, ‘pillow’ is called ‘quilt’, ‘quilt’ is called ‘mosquito net’, ‘mosquito net’ is called ‘scarf’  

  
 

given three elements are related in some way. Find the diagram in which these three element fit. 

 (4)  

 (4) XJOE  

 (4) 37  

 (4) 1677309 
There will be a certain relationship between the first two numbers we have to find that and accordingly solve the  

 (4) 343 
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133.  Find the odd one out from the given options.
 

  (1) Arctic /   
  (3) Indian /   
134. A series is given with one term missing. Choose the correct alternative.
 

  (1) Q (2)
135. Butterfly is to caterpillar as frog is to:
 ______
 
  (1) Reptile / /   
  (3) Tad pole / /  
136.  Statement / : (i) All cats are animals. 
                          (ii) Some animals are dogs.
 Conclusions :         (i) Some cats are dogs. 
  /     
                          (ii) No cat is dog. 
  (1) Only conclusion i follows / 
  (2) Only conclusion ii follows / 
  (3) Either conclusion i or ii follows
  (4) Neither conclusion i nor ii follows 
137. If south-East becomes North, North-
 

  (1) East / /  (2)
138. Select the word pair in which the two words are related in the same way as the two words in the following 
 pair. Five : Pentagon 
 :

  (1) Four : Rectangle / : 
  (3) Square : Four / : 
139. What will be the mirror image of the word ‘HOJAI’ 
 ‘HOJAI’ 
 ‘HOJAI’   
  (1) (2)
140. A man has some hens and cows. If the number of heads be 48 and the number of feet equal to 140, then the number 
 of hens will be: 
 
 
  (1) 22 (2)
141. Three positions of a dice are given below 
 

 Identify the number on the face opposite to 6. 
 6 

6  
  (1) 1 (2) 4
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Find the odd one out from the given options. 

 (2) Atlantic / 
 (4) Green land / 

A series is given with one term missing. Choose the correct alternative. 

B, E, H, K, N, ? 
(2) M (3) N 

Butterfly is to caterpillar as frog is to: 
______ 

  
 (2) Fish /  
 (4) Amphibian / 

: (i) All cats are animals. / / 
(ii) Some animals are dogs. / / 

Conclusions :         (i) Some cats are dogs. /  / 

(ii) No cat is dog. / 
i / I  
ii / ii  

follows / i ii / i 
Neither conclusion i nor ii follows / i ii / 

-East becomes west and so on, what will south-west become?

(2) North / /  (3) South /  
Select the word pair in which the two words are related in the same way as the two words in the following 

/ :  (2) Triangle : Three 
/ :  (4) None of these / 

the word ‘HOJAI’ –   
 

 
(2) (3) 

A man has some hens and cows. If the number of heads be 48 and the number of feet equal to 140, then the number 

48 140 
48 140 

(2) 23 (3) 24 
Three positions of a dice are given below –  

 
Identify the number on the face opposite to 6.  

 
(2) 4 (3) 5 
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 (4) W 

  
/ 

 
 

 

  
    

  
 ii   

i ii  
west become? 

 (4) West /  
Select the word pair in which the two words are related in the same way as the two words in the following word- 

:  
Triangle : Three / : / :  

/  

 (4) 
A man has some hens and cows. If the number of heads be 48 and the number of feet equal to 140, then the number  

 
 (4) 26 

 (4) 7 
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142. If m and n are whole numbers such that mn = 121, then the value of (m – 1)n+1 is – 
 m n mn = 121 (m – 1)n+1     
 m n mn = 121 (m – 1)n+1    
  (1) 1  (2) 10 (3) 121 (4) 1000 
143. The length of a rectangular hall is 5 m more then its breadth. The area of the hall is 750 m2. The length of the hall  
 is –   
 5 750 

5 750 

  (1) 15 m (2) 22.5 m (3) 25 m (4) 30 m 
144. What was the day of the week on 15th August 1947?  
 1947 15 

1947 15 
  (1) Friday / /   (2) Saturday / /   
  (3) Monday / /   (4) Sunday / /   
145. If x @ y = x2 + y2 – xy, then the value of  9 @ 11 is –   
 x @ y = x2 + y2 – xy 9 @ 11   
 x @ y = x2 + y2 – xy 9 @ 11     
  (1) 93 (2) 103 (3) 113 (4) 121 
146. What comes next in the sequence 16, 25, 36, 49, 64 –   
 16, 25, 36, 49, 64…. 

16, 25, 36, 49, 64….   
  (1) 16 (2) 78 (3) 81 (4) 90 
147. The angle between the minute hand and the hour hand of clock when the time is 4 : 20, is -  
 4 : 20 

4 : 20  
  (1) 0°  (2) 10°  
  (3) 5°  (4) 20° 
148. Find the number of squares in a 3 × 3 grid. 
 3 × 3 

3 × 3 
  (1) 9 (2) 10 (3) 18 (4) 14   
 
Read the following information to answer Q149 and Q150. 
Q149 Q150  
Q149 Q150 
 Seven poles A, B, C, D, E, F and G are put in such a way that the distance between the next two decreases by 1 
 metre. The distance between the first two poles, A and B, is 10 metres.  
 A, B, C, D, E, F G 1 A

B 10  
 A, B, C, D, E, F G 1 

A  B 10 
149. What is the distance between the first pole A and the last pole G?  
 A G  
 A G  
  (1) 40 m  (2) 45 m  
  (3) 49 m  (4) None of the above / /  
150. If a monkey hops from pole G to pole C, then how much distance did it cover?  
 G C  
 G C  
  (1) 19 m  (2) 22 m  
  (3) 26 m  (4) None of the above / / 

****** 
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